10mg 3min

2004 22 3 163
2002 12 50  20g
= 5.761 5,
3 Sx= 0. 080 4( 5 Sx= 0. 117 2) 50
X Xmax 95% X
, = XX/50+ 1.677Sx= 5.761 5+ 1.677 0. 080 4=
5 , 5.8693(v=49) X Zonin =
, 19.499 9, 5
, , : X m= X + t0.05%Sx/n’>=5.780
X = X+ toos X Sx/n®?, 6, >X/5 X7/5= 2Y/5- XX/5
2002 Z =20.5335, 5
12 20g 10000 /
= (10 000%°/2) + 1= 51 \
5.8167 5.662 2 5.860 5 5.7170 5.843 1
5.6718 5.863 6 5.714 4 5.8535 5.8383
5.866 6 5.840 4 5.640 7 5.6859 5.8179
5.8236 5.814 6 5.846 6 5.6052 5.6767
[1] 2000 [S]. , 2000: 79.
5.8158 5.685 2 5.663 6 5.716 7 5.8124
5.820 1 5.704 4 5.702 9 5.652 1 5.676 4 (2] ' [M].
5.678 3 5.8370 5.712 8 5.8143 5.6927 » 1996: 81.
5.8224 5.827 9 5.702 8 5.604 3 5.704 8 [3] GMP [M].
,2000: 437.
5.707 5 5.830 9 5.830 7 5.8037 5.8561
:2003- 07- 12
5.8087 5.654 0 5.831 2 5.8349 5.809 6
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